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pvD/u fL/D)(V*/2g)
pipe | L(ft) | D(f)| e/p | Q@ ft¥s) | viss) | Re | F | h's | hyaQ
AB | 1800 | 0.667 | 0.00023 | -2.5 -7.16 | 2.89E+05 | 0.016 -34.43 13.77
AC | 2200 | 0.500 | 0.0003 1.5 7.64 | 2.32E+05 | 0.0175 69.82 46.55
BC | 2000 | 0.833|0.00018 | -0.5 -0.92 | 4.63E+04 | 0.022 -0.69 1.38
SUM 34.70 61.70

loop
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pipe | L(f) |D(f)| e |@iys)| vieys) | Rre | F | my | mya

AB | 1800 | 0.667 | 0.00023 -2.78 -7.97 3.22E+05 | 0.016 -42.61 15.32
AC | 2200 | 0.500 | 0.0003 1.22 6.21 1.88E+05 | 0.0175 46.10 37.82
BC | 2000 | 0.833 | 0.00018 -0.78 -1.43 7.24E+04 | 0.021 -1.61 2.06
SUM 1.88 55.20

loop 3

S ), Ops =—0.017-2.78 =-2.8 ft’/s
; ' -1.88
AQ = —5 =—0.017 ft'/s = {0, =-0.017+1.22=12 ft'/s
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: =-0.017-0.78=-0.8 ft'/s
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